AREA {(4) FORMULAS VOLUME () FORMUILAS
BOUArC. ... A =3

rectansle. . oL A = bh
OR
A = hy

parallelogram. .. .. A= TOTAL SURFACE AREA ($4) FORMULAS

triangle ..o A= right rectansgular prism ... SA = by 1 2ine) s

frapezoid. ..o A= 0y sphere oo L S = i

crweles oo A

CIRCLE FORNMULAS

UL L L. A =

circumlerence

240




Name: Date:

Geometry MCAS Practice
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Kelsey has a rug m the center ol her bedroom Aoor. Both the loor and the tug are in the
shape of a rectangle. The rag, the floor, and some of their dimensions are shown i the
diagram below.

T et

poo
2 feet Vloor

p——— 11 el ———

e e S e T e e e e e e S e R T

e T

e M T Tt Ty

What 1s the area, in square lTeet, ol the entive floor? Show or explain bow you gol vour
answer,

Whal is the pertmeter, in leet, of the rug? Show or explain how you got your answer.

What 15 the arca, in square leet, of the part of the floor that is not covered by the rug?
Show or explain how you gol your answer,

A5 T DT RO S T KT L SR RS PR KT DTS

e e T T e,

TRRTR TS

e T T e e

, T
! 2 mches

’ & mnches

- 12 mchey ———m—r \/

What 1s the volume, in cubic inches, of the rectangulur prism?

T T L S 1 S AL G b 0 ot e e L P A P o B etk M DA it b o A oy T B e A T AT
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3)

On the grid i yowr Student Answer Booklet, copy the x-axis, the y-uxis, and point (), as
shown below.

'

]

&
¥
e

frost e

e e

o
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a. What are the coordinates of point 97

b. On your grid, plot and label points S{--5, 0)and £{--3,0).

S T e T T T B e ey ST Ta e

c. On vour grid, plot and tabel a point 7 so that quadiitutera] QRS 15 a rectanule. What are
the coordinates of poi 777!

d. On your gnid, draw a second rectangle that meets the following requirements:

+ b is congruent 1o rectangle ORST,
+ The coordmates of cacl vertex are positive numbers,

¢ The vertices are abeled U, FOIF, and X

¢, What are the coordinales of cach vertex of rectangle UFIFY?

D

A rectangalar prism and its dimensions are shown below,

[

.
5 inch

~

el
4 nien

— l} inch —1 M
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What is the volume, in cubic inches, of the prism?
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A rectangle and a paralictogram
have the same arca. The rectangle,
the parallelogram, wid some of their
dimensions are shown below:

m cubic ceninmeters, of a cube that has
an edge length of 5 cenlimeters.

What iy the volume of the cube?

A, 15 cubvie centimelers

B. 25 cubie contimeters

O 125 cubie cenlimeters

— x 1. — b 14 11—

1), 625 cubte contimeters

Bused on the dimwensions shown, what is
the value of ¥?

Ao LS
B. 105
(SR B
D168

Matthew made a wooden cube that has
an cdee length of 9 inches, as shown
below.

Kawanwe drew the triangle shown in the
diagram below.

20 inches 15 mehoes

12 inches

:
£
]
!
H
H
g
g
H
i
&
£
i
&l
]
£
i
H
o
]

e 25 inches —— i — 9 imches —

He painted haif the Taces of the cube
red and the remaining Laces yellow

Bused on the dimensions in the dingram,
what 15 the area of Kwame’s triangle?

N - What s the surlace arca of the fuces
AL TS0 square inches . )

e Matthew painted red?
B. 250 square inches

. . Y2 squatre mehes
(. 300 square inches A. 162 square inches

LT T e e ot rrowp ey

B. 243 square inches

D, 375 square mches

L3065 square inches

D, 486 square mehes

84 R TS A
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9}  Wendy plotted points J and K on a coordinate plane, as shown.

S
h
roar B

8
7
6
5
%J 4
3
2
1
s et Pl X
*9375-5-432-1{3 23456789
-2
@K “3
-4
-5
-6
-7
8
"q
¥

Wendy will plot point £ so that when connected, points J, K, and L will form a
right triangle. Which of the following could be the location of point L?

A (-7, 1)
(-1, 7)

w
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The edge length of each cube is %—foot. What is the volurne of the figure? g
]

A. 1L cubic feet |
8 :

i

B. 2% cubic feet E
C. 3% cubic feet §
1 . i

D, 4—2— cubic feet E
:

i

B R P A S - o e g




11) @GP The net of & rectngular prism and
some of its dimensiens are shown in

Mr. Walsh Iues o sign that 15 1n the

the diseram below. shape of a taperoid. Some of the
' dimensions of Mr. Walsh’s sign arc

shown helow,

15 m —

AT Ly e R TSP e AT TR AT

4em
f—
30— R

What is the wrea of Mo Walsh's sign?

A 2 osg L
B. 36 s 11
O 42 sq.0
D48 sq. (it

What is the total surface arca, in

square centimeters, of the rectangubar
prismy?

A T T T e e R Y e e F G R S T T i IS e o B e g o A el

AT
B. 258
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13)

A rtght wimgle and its dimensions ae shown i the diagram below.

.

H\\R 26 moters
1O mueters \\x\
-~ T~
1 , T

24 meters

What is the area. in square meters, of the trianzle?
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